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[1] ��� �1� 	 � ��# ��$ ���

[2] ��� 2 �� �� # ��$ � �

[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  
"�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

#�� � 	 � ��� ��$ �45 �6� �' � 70 8 -� �� �� � &
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' 8 -% � �	 
# � �� 3�0 � 	 #� 5 ��# � 
 '>� 	 �� �
� � -� � � � �� �� � 	 � � �� �� � �� � �9� � �� 	 � �� 	 #�

# �� �� � 	 #� ��� �� �6�0 �� � �	 � �� �0�� �� 	 � �� � -. �� � �

[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
#�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

��� 
�� . � �� � 	 � � 70 �2 �? �� � �# �	 � $ �%� 70� 2� ?� �
5 �	 ���	 � � �	 
� ����'� 
� � 
� � � �6�� � -. � @ �
�

[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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[1] 	 � � �� �	 � �  �� 0� �' � � �� -���

[2] &# �� � '� � � 
� �  ���

[3] 5 ��# ��� '� �5 � �� � � �� � 
# '� 5 ��� � 	 �� C� ��
�

[4] 5 � �� � < �� � �� �� 5�� � � 
� �' 2 ��

  $�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

%�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
%�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 

��� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
" �� � � 	� �
5 � 
 �� %� D
� C �� �?' 	� 
�� �� �� 	 #� �-�
' 8� � �8 � � ) 	 � )�% � &� � � �	 
# � 
� C �� �?' 	 � 70� -�� �
	 � � �* 0 �9� 0� � '�� � '� � � 	 ��# � -. E%� 	 -�� �#�
-. �� �

[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
��� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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[1] H � �� 0�� ��� �' .��
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  &�� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 

'�� �� �� ��� �� �� ' �� � 
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	 # �� 	 � �� ? 0�� �� �� 6�� � -#�� -#�� -#�� -#� � -.�@ �
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[1] 
 ���� ?	 � �� �
[2] �� ��� �$ ��
[3] �� ��� �� #� � �
[4] 5 � ��� 	 ��

  '�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 

��� D�	� I���H,�� 	��� ���# � 	 �� ��
� ��0�� &�� 
	���
-.%� �	9� � �#�� � 	�� ���� ��60� �-#�� �	0�� &� �

	 ��!E� 0 -� 	/��� /��J��H�) 	� 	�� 
#����� 	 ��
�	 
���0'�	 #�
?0��� ��	 =�	����-.� @ �
[1] � ?��� �� 	 � �� �0 '�
[2] 5 � 0 �
� 	 � �� �0 '�
[3] �� � �� �� 	 �� � �0 '�
[4] � - �� �� �* 0�� 	 � �� �0 '�

  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 
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� -# �� -# �� -# �� -# � �-. � @�
[1] 5 � 6��� � � 8� � 
�� �
[2] 
' A �� �
� � �
[3] 5 � �� � 6�� 
�� �
[4] � �� �� � 
�� �

  "
�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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  ""�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 

"#�� 
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� �

[4] � � 0� – ��� 0� �

  "#�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 

"��� �	 �� �� � �� � � 	 � � 
� '� �&	 � � �	 � 
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[1] 
 �'� &#	 �$ � ��� �� �����

[2] 
 �'� �&	 �' 8� 0� � � ��� �� �� � 6���� �� 0�� � �� � �

[3] 
 �'8 � -	 ���� �� �6� 0� � � �	 � �5 �0� � &��

[4] 
 �'� �&	 �
 � �� 6� �� � � �� � �A � � ��� �

  "��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 

"$�� ' .
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�
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[1] 70 �2 � �� � �

[2] 
 �'� �&	 �

[3] � �. �" 	 � �

[4] 
 �� � ��?' 	 �

  "$�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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� �� � 6���
	 � 0��
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[4] �8 < � � �� � � �5 � '�� � ���5 �� � 
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  "%�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 
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  "��� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 

"&�� 70 �2 �? �� 5 600 �� 	 #� ��# �� $� � � �� 6�� 	� �
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[1] 5 � J ���� =� �� �

[2] �  H� / ���

[3] ' . 2H 8 �� � �

[4] 5 � )& � � 	��

  "&�� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 
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[3] 
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[4] � �� �� �� 5 �. � � ��� �� ��

  "'�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�

"��� �� �� � #0 � � 
" �� �� 	 �� 5 � 
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[1] � ���� 3 �$ �� ?'	 � �

[2] 
 A& �� ?'	 �

[3] 
 ." � � �� 	� �

[4] 70 �� -��� 	 �

  "��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 

#
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[1] �8 �� 4G� +, �� �

[2] G� +, ���

[3] � � �� 4G�+ , �� �

[4] ) �' � � � 
� �	 �� ) � ��-#� 

  #
�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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  #"�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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[1]� ' �� � � �� � ' �J �� ��
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  ##�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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[3] � ���� �� 5 � �� � ��

[4] ��� � �� � ��#� �5 � � � ���

  #��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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  #$�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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[4] 
 8� �� ?'	 ��� �� � �3= 

  #%�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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  #��� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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[1] 80� [2] 90�

[3] 100� [4] 110�

  #&�� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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[4] 5 �
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  #'�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 

#��� ��	�
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[4] � A � �#0�

  
#��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�

�
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[1] � �-O0 � [2] 5 � &� ��

[3] 5 � 9�� �	 � [4] 
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  �
�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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(��)�!��"�2��"�2��"�2��"�2�����
�$���.���

[1] !
���+�
���!���@�!	
���+�!���'�

[2] !%���+��%A@�!%2��+�BC��

[3] !%�(���+�!D�2�@�!%�(���+��%,'
��E�

[4] 5
���+�"	*�%@��
���+��%����

�#�� �!��� 2%F�� !
.
� *������� �
'�&� 
�;'� 2���
��'%;�� 8*������:� ��?
� ��.�+!�� !�G�� ���
�
�� ,��������4�

[1] !2%
�'
�#��!�G��

[2] ����
�#��!�G��

[3] ���

�#��!�G��

[4] H'�;�
�#��!�G��

���� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

�$�� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��
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����	
��
��� � �

�%�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

�
�� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

"��� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

"��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

"!�� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

"��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

""�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

"#�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

� �� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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�����������#����$�������%��&��'�������� 

����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����

���� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
���� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

�(�� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
�(�� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

���� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
���� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 



������ �������

��	�
��
���� � �

�)�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
�)�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

���� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
���� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

���� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
���� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 



� ���*��� ������

��	�
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���� � ���������

�*�� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
�*�� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

�+�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
�+�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

���� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
���� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

*��� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  *��� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 



������ ���+���
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*��� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
*��� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

*(�� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
*(�� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

*��� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
*��� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

*)�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
*)�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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*��� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
*��� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

*��� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
*��� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

**�� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
**�� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 



������ ��(����
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*+�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  *+�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

*��� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
*��� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

+��� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
+��� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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+��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
+��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

+(�� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  +(�� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

+��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
+��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�



������ ��((���

��	�
��
���� � �

+)�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  +)�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

+��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
+��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

+��� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
+��� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ��(���� ������

��	�
��
���� � ���������

+*�� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  +*�� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

++�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
++�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ��()���

��	�
��
���� � �

+��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
+��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

���� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
���� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  



 ������� ������

��	�
��
���� � ���������

����������������������������������
������������������������ ��������� 

�	
��
����	
��
����	
��
����	
��
��������	�	���������
	������������
�	�������������������������������������������������������������	� ����
Direction :  Answer the following questions by selecting the most appropriate option. 

���� �	�	������� !�"#���� #��� ��� ��$	-��/��$	-���
��%��%��%��%����#������$/�$��&�
� 

��	

��	

��	

��	���� ���� ��'������'������'������'��������
A. �$
���(��� )� �'��
�
B. *!�!� )� +$�#	%�
C. ����!� )� ��$�#�
[1] �����A [2] B ����C��
[3] �����C [4] A ����C 

  ���� Which of the following is/are correctly 

matched from the given pairs ? 

 Philosophy  Propounder 

A. Vaisheshika – Kanada 

B. Nyaya – Jaimini 

C. Samkhya – Gautam 

[1] Only A [2] B and C 

[3] Only C [4] A and C 

���� �,�%��,�%��,�%��,�%�– I �����,�%��,�%��,�%��,�%�– II �����#������%�+��
-�$��	%����
������,.������!���������%��%��%��%�
��������	����
�����������������,�%��,�%��,�%��,�%�– I  �,�%��,�%��,�%��,�%�– II 

A. ���%� i ��� ��,�#� �+������%�
����%� 	�%�� /��01��
+����2�� �

B. ����+� ii ��� ��,�#� �+��� ���
!�� 
��� �(���3� ��� ����
����%�/��01��+����2�� �

C. ��+�� iii ��� ��,�#� �+��� �%	�
!�������(���3��������
����%�/��01��+����2�� �

D. ����� iv ��� ��,�#� �+��� ��4��
�(���3� ��� -�5��� ���
���� ����%� /��01��
+����2�� �

�,.���,.���,.���,.������
� A B C D 

[1] � ii iii iv i 

[2] ii i iv iii 

[3] iii i ii iv 

[4] iv i ii iii 
�

  ���� Match List - I with List - II and 

select the correct answer from the 

codes given below : 

����List����– I  List����– II 

A. Parati i Land which was 

never kept fallow. 

 

B. Polaj ii Land kept fallow 

for one or two 

years. 

C. Banjar iii Land kept fallow 

for three or four 

years. 

D. Chachar iv Land kept fallow 

for more than five 

years. 

 

Codes ��������
� A B C D 

[1] � ii iii iv i 

[2] ii i iv iii 

[3] iii i ii iv 

[4] iv i ii iii 
�



����� �������

��	�
��
���� � �

���� 1787 #��� ��6���,#� ��� -���(���� ���	��

��!��&�

[1] �0#�0���.����.�

[2] ���0��-������.�

[3] +��������%7+1�

[4] +�6	����

  
���� Who invented Powerloom in 1787 ? 

 

[1] Edmund Cartwright 

[2] Richard Arkwright 

[3] James Hargreaves 

[4] John Kay 

���� ��$	-���#������

����8����-��#���%����

����	���������5����$�& 

[1] -���� �

[2] +��4�%���

[3] 
���+��4� �

[4] -�$���+�1��

  
���� Which Mughal emperor is associated 

with compilation of Fatawa Alamgiri ? 

[1] Akbar  

[2] Jahangir 

[3] Shahjahan  

[4] Aurangzeb 

���� ��+��-����������
�������92�������$	�2���&�

� �

[1] �:���+� �

[2] #��*
�������2�#�

[3] 	����.;.���2�#� �

[4] ��#��
��

  
���� Who was the founder of Gurjara-

Pratihara dynasty ? 

[1] Vatsaraj  

[2] Mahendrapala I 

[3] Nagabhatta I  

[4] Rambhadra 



 ��� ��� ������

��	�
��
���� � ���������

���� �	�	�������#�����������#��<��#$��!����%����

	�#����+�	��+����2���&�

[1] ��+%�������2�# 

[2] ����+%���
�	�2��

[3] 	���!'������

[4] 	�	��801	�%��

  
���� Who amongst the following was 

known as Maratha Machiavelli ? 

[1] Baji Rao I 

[2] Balaji Vishwanath 

[3] Narayan Rao 

[4] Nana Phadnavis 

� �� ����
�������� 
���	�����#��� �=	���,���

������-�!��2���&�

[1] #����#
���	�������

[2] �8���+1�������

[3] -���>%	�����+%�

[4] ������#����
%�

  
� �� Ibn Battuta came to India during the 

reign of which ruler ? 

[1] Muhammad Bin Tughlaq 

[2] Firoz Tughlaq 

[3] Alauddin Khilji 

[4] Ibrahim Lodi 

�!�� -�������
���	-����#���#���������������

���8���%�-	���
����	�#��$�� 

[1] 8��	�#�� �

[2] �����-��-!��#	%�

[3] ��	�#�� �

[4] �? 11 11#	�#��

  
�!�� Persian translation of Mahabharat 

during the reign of Akbar is known as : 

[1] Fatahnama  

[2] Kitab-ul-Yamini 

[3] Chachnama  

[4] Razmnama 



����� ���!���

��	�
��
���� � �

���� �$��	�.� �#
�	��������� #��� �	�	��2�	���� ���

�������%�+����

A. ��#������2��-��6�����
���#��2�� �

B. ��#���9.$8��0���@A��
���#��2�� �

C. ��#����B��%B�-��C+�1�0��
���#��2�� �

�C�� #��� ��� ��$	-��/��$	-��� �2�	� ��%���%���%���%�

�$/�$��&�

[1] A, B ����C  

[2] �����A���� C 

[3] �����A  

[4] �����C 

  
���� Consider the following statements 

about Cabinet Mission : 

A. It included Pethick-Lawrence. 

B. It included Stafford Cripps.  

C. It included A. V. Alexander. 

Which is/are the correct statement/ 

statements from the above ? 

[1] A, B and C  

[2] Only A and C 

[3] Only A  

[4] Only C 

����� ����������������#���������
�������92�����

��$	�2���&�

[1] 5�#����� �

[2] D%����

[3] ������� �

[4] #
	����

  
����� Who was the founder of Pala 

dynasty in Bihar and Bengal ? 

[1] Dharmapala  

[2] Shripala 

[3] Gopala  

[4] Madanpala�



 ������� ������

��	�
��
���� � ���������

����� E�����-���#��#��.���$	�2���&�

[1] �$2��%	��F�%!� �

[2] �%.���G�%!�

[3] �	�������F�%!��

[4] ���C+�1�0���G�%!�

  
����� Who was the last emperor of Russia ? 

[1] Catherine II  

[2] Peter III 

[3] Nicholas II  

[4] Alexander III�

����� �	�	�#������������	�#���
����#���
���������%�

��	����������5����$�&�

�

[1] ����H%� �

[2] �����#�
���

[3] ���%�� �

[4] �%����%�

  
����� Whose name amongst the following 

is associated with the composition of 

hymns in Vedas ? 

[1] Savitri  

[2] Lopamudra 

[3] Gargi  

[4] Leelavati 

����� 
����� ����+��.��� 
��	���� ����	������ �	���%�

2���&� �

[1] ���	�� �

[2] ���#�

[3] ¶�������� �

[4] �#��	�

  
����� Both Dante and Giotto belonged to 

the city of : 

[1] Venice  

[2] Rome 

[3] Florence  

[4] Milan�



����� �������

��	�
��
���� � �

����� #��:#����45�%����������'��#���-����	%���%�

����%���	�����������	�������������/���	��

�������	��#	�!��&��

[1] ��+��#���
��C��

[2] #��
���
������

[3] �������I('����������

[4] ��%*
�	�2��.$�����

  ����� Who persuaded Mahatma Gandhi to 

come to Champaran to do something 

for the indigo planters ? 

[1] Rajkumar Shukla 

[2] Mahadev Desai 

[3] Gopal Krishna Gokhale 

[4] Ravindranath Tagore 

����� -F$��
�
���	��-��
�
�������!�������J����

	�#���������

[1] ��K��

[2] 
���
���

[3] ��$0��
���!��

[4] �����*
�����:��
�

  
����� Name the Guru of Advaita 

Philosopher Adi Shankaracharya : 

[1] Vitthala 

[2] Shukadev 

[3] Gaudapadacharya 

[4] Govind Bhagvatpada 

����� ���%���--����������������$	��$�&�

[1] 8+1��#����#
�

[2] -#%����������

[3] �
�!,4	%�

[4] �	+1�#�>%	�-�#
�

  
����� Who is the author of Tarikh-i-Alai ? 

[1] Fazal Mohammed 

[2] Amir Khusrau 

[3] Badayuni 

[4] Nizamuddin Ahmed 



 ������� ������

��	�
��
���� � ���������

�� �� �	�*��#��������$	-�����#�����	�%�	�%�	�%�	�%���$�&�

� �

���� !�H%�!�H%�!�H%�!�H%����� ���� ��(.L��(.L��(.L��(.L����

[1] �=	���,��� – #���C����

[2] #������������� – �.�%�

[3] 8�
�	�*
�#$��	�– M����

[4] +�������� – ���.�	�

  �� �� Which of the following is wrongly 

matched ? 

 Traveller   Country 

[1] Ibn Battuta  – Morocco 

[2] Marco Polo  – Italy  

[3] Ferdinand Magellan – France 

[4] James Cook  – Britain 

��!�� #�+%���	92����	�����
�$��	�+���	%���(.L%!�	����

N8�������C!����O����-�
�!�2�����

�

[1] 
�����#!���(.LP�����Q����%#��

[2] -*����(.L%!�
������

[3] #������(.LP�#��%�
��	�

[4] �#GR�
�
�P�#+1�,����	��

  
��!�� Japan's national slogan 'Fukoku 

Kyohei' during Meiji Restoration 

meant : 

[1] Peaceful Country, Safe Frontier 

[2] International Peace 

[3] My Country, My Pride 

[4] Rich Country, Strong Army 

����� ���� !,	�	%� ��+
,�� 	�� ���

��� #��� �����	�

��('��� ��� ��#�	� #��� 9����� ��� �	#��'����

����!��&�

[1] #$�92�	%+1� [2] ����!��0�����

[3] �2�!��0����� [4] 0�!��	�

  
����� Which Greek ambassador set up a 

pillar in honour of Lord Vishnu at 

Vidisha ? 

[1] Megasthenes [2] Heliodorus 

[3] Theodorus [4] Dion 



����� �������

��	�
��
���� � �

����� �������%� ��9.� ���0!�� ���	%� ��� �<	����

��-��2���&�

[1] 1618  

[2] 1628�

[3] 1638  

[4] 1648�

  ����� When was Portuguese East India 

Company formed ? 

[1] 1618  

[2] 1628�

[3] 1638  

[4] 1648�

����� �	�	�#���������	��-�%����(�0;!�H�#�#���#���

-���*
�S���(������������!��&�

� �

[1] +��������	��E�

[2] ��+����
�����,��

[3] #���%����	��E�

[4] ������+	�
���

  
����� Who among the following defended 

Aurobindo Ghosh in the Alipore 

Conspiracy case ? 

[1] Jawaharlal Nehru 

[2] Tej Bahadur Sapru 

[3] Motilal Nehru 

[4] Chittaranjan Das 



 ������� ������

��	�
��
���� � ���������

����� �,�%��,�%��,�%��,�%�– I ��������,�%��,�%��,�%��,�%�– II �����#������%�+��

-�$��	%����
������,.������!���������%��%��%��%�

��������	����

 �,�%��,�%��,�%��,�%�– I����  �,�%��,�%��,�%��,�%�– II����

A. ���
%��#������ i. �.��4�� 
�9H�����

(�0;!�H�

�

B. -
8������ ���	�ii. ������% .�L	 0�$�%�

�

C. �,!����	� iii. #�+1T8�����

(�0;!�H�

�,.���,.���,.���,.������

� A B C 

[1]� ii iii i 

[2] iii ii i 

[3] iii i ii 

[4] i ii iii 
�

  
����� Match List – I with List – II and 

select the correct answer from the 

codes given below : 

 List����– I����  List– II����

A. Khudiram 

Bose 

i. Chittagong 

Armoury 

Conspiracy 

B. Ashfaqulla 

Khan 

ii. Kakori Train 

Robbery 

C. Surya Sen iii. Muzaffarpur 

Conspiracy 

Codes : 

� A B C 

[1]� ii iii i 

[2] iii ii i 

[3] iii i ii 

[4] i ii iii 
�

����� -��.�#%�����8��92������4��92����$�&�

[1] ���#� �

[2] 9��	�

[3] M���� �

[4] ����	�

  
����� Altamira is a cave site in : 

[1] Rome  

[2] Spain 

[3] France  

[4] Iran�



����� �������

��	�
��
���� � �

����� ���� ���������� 	�� �.A�'�%� �%� 2�%� ���


�Q�'�� -M%��� 	�� �%� ��45�%+%� ���� #��:#��

�	�!��&�

[1] ������8
��� �

[2] ��+#���	���45�%�

[3] ��#�*
�������

[4] ��
�	�
��	��	�

  
����� Which historian had remarked for 

Gandhiji that South Africa was the 

Making of the Mahatma ? 

[1] Louis Fischer  

[2] Rajmohan Gandhi 

[3] Ramachandra Guha 

[4] Chandran Devanesan 

����� �	�	�#��������$	-�����#�����	�%�	�%�	�%�	�%�� �$�&�

�

�#������H�#������H�#������H�#������H� � ����
�����
�����
�����
��

[1] 
���*
,� –�+%B�����#'!�

-U!��

[2] 
�������%� –� ����*
�	�2�����

�	+%��

[3] -#G����+1���

��H���

–� #���%����S���(��

[4] ��5���� –�-��	�
�	�2����

.$�����
�

  
����� Which of the following is not 

matched rightly ? 

News Paper� � Editor�

[1] The Hindu� –�G. Subramania 

Iyer�

[2] The Bengalee� –�Surendranath 

Banerjee�

[3] Amrit Bazar 

Patrika�

–�Motilal Ghosh�

[4] Sudharak –�Abanindranath 

Tagore�
�



 ������� ������

��	�
��
���� � ���������

����� �	�	������� S�.	�-���� ���� ����	�@�#��@#�

#���7!��92��������-�$���	�	��,.����#��������%��%��%��%�

����������	����������

A. !,	��.�0�����0#�����<	�

B. -#�������%�@�����

C. M�����%�@�����

D. A���%����!�R�

�,.���,.���,.���,.������

[1] A, B, D, C  

[2] A, D, B, C�

[3] D, A, B, C  

[4] C, D, B, A�

  ����� Arrange the following events in 

chronological order and select the 

correct answer from codes given below : 

A. Formation of United Kingdom 

B. American Revolution 

C. French Revolution 

D. Battle of Plassey 

Codes : 

[1] A, B, D, C  

[2] A, D, B, C�

[3] D, A, B, C  

[4] C, D, B, A�

�� �� #�$!�� ���� #��� #��� -�$�� ��$�� ��� -5!Q����

2�����

[1] �'!�5!Q��

[2] 
�����5!Q��

[3] ��$���5!Q��

[4] �%��5!Q��

  
�� �� Officer of weights and measures 

during Mauryan period was : 

[1] Panyadhyaksha 

[2] Sulkadhyaksha 

[3] Pautavadhyaksha 

[4] Sitadhyaksha 



����� �������

��	�
��
���� � �

��!�� ��A�� 
����� �+�	�� #���
���
:!� �%� ����5��

5���'���%���

[1] ��#����A����2�#��

[2] 9�*
��A��

[3] �#�
���A�� �

[4] ��#��A��

  ��!�� The Gupta King who held the title of  

'Mahendraditya' : 

[1] Kumaragupta I  

[2] Skandagupta 

[3] Samudragupta  

[4] Ramagupta 

����� ���!��� ��9������ #%#�� ��	�	� ��� �
�(!����

���������	�����4�����	#��H����!��2���&�

[1] ������ �

[2] �#���

[3] ��9��*���	!�� �

[4] �%��!��

  
����� From where did Babur invite the pupils 

of famous architect Mimar Sinan ? 

[1] Kabul  

[2] Egypt 

[3] Constantinople  

[4] Syria 

����� NN!�� ������8�� V���%W� ��� �
	��#���� �%�

#�4�� #���-���� ������ OO� ����2�	�#��� ��60��

0���$+%�������?!�������������������$�&�

[1] 	������ �

[2] X���%�

[3] -�5�� �

[4] ������

  
����� "A cherry that will drop into our mouth 

one day." Which kingdom did Lord 

Dalhousie refer to in this statement ? 

[1] Nagpur  

[2] Jhansi 

[3] Awadh  

[4] Satara 



 ��� ��� ������

��	�
��
���� � ���������

����� 1303 ��B #��� -���>%	� ����+%� ���

�����$01�Y1� ��� -�@#'�� ��� �#!� ���4� ���


�������$	�2���&�

[1] �������	�������

[2] ��#%��
���

[3] ��*�0
��� �

[4] �������

  
����� Who was the ruler of Chittorgarh at 

the time of attack of Alauddin Khilji 

in 1303 A.D. ? 

[1] Rawal Ratan Singh  

[2] Hammir Dev 

[3] Kanhaddeo  

[4] Kumbha 

����� ������ ��� ��	��-+	��� ��� E�� #��� ��60��

����+�%� ��� ��!����� #��� ��$	-��/��$	-���

!�R���-�/����&�

[1] �����II -��"�-#$�,��!�R�

[2] �����II -��"�-#��<��!�R�

[3] �����IV -��"�-#$�,��!�R��

[4] 
��	���� II -��"�-#��<�� !�R� ���� IV 

-��"�-#$�,��!�R�

  ����� Which of the war/wars took place 

during the tenure of Lord Wellesley 

as Governor-General of India ? 

[1] Only II Anglo-Mysore War 

[2] Only II Anglo-Maratha War 

[3] Only IV Anglo-Mysore War 

[4] Both  II Anglo-Maratha and IV 

Anglo-Mysore War�

����� 1528 #�����������-�@#'������#!���
��%�

���������-�5�����2���&�

[1] ��
���	� �

[2] ��
	���!�

[3] #��
	%���!� �

[4] �,���	�

  ����� Who was in control of Chanderi in 

1528 at the time of attack by Babur ? 

[1] Chandrasen  

[2] Chandan Rai 

[3] Medini Rai  

[4] Surasen 



����� ���!���

��	�
��
���� � �

����� ���������	����-5�%	� �������%� ��+5��	%�

-�����2�%�&�

[1] ���*
�����
%� �

[2] ����������
%�

[3] �8���+1������� �

[4] #������
����

  
����� Agra was the capital of India during 

the reign of which Sultan ? 

[1] Sikandar Lodi  

[2] Bahlol Lodi 

[3] Firoz Tughlaq  

[4] Mubarak Shah 

����� ������	���
�������92�������$	�2���&�

 

[1] ��
�#��� �

[2] ��$�#%��H�

[3] ��,�#�#H� �

[4] ��#���

  
����� Who was the founder of Satavahana 

dynasty ? 

[1] Susharma  

[2] Gautamiputra 

[3] Bhumimitra  

[4] Simuka 

����� �	�	�#����������%���	����'���.;.����F����

	�%�	�%�	�%�	�%���%�����&�

[1] ��
���%�

[2] �(�������

[3] �'0%�
����

[4] �:	���%�

  
����� Which amongst the following was 

not written by Banabhatta ? 

[1] Kadambari 

[2] Harshacharita 

[3] Chandi Shataka 

[4] Ratnavali 



 ������� ������

��	�
��
���� � ���������

�� �� -�+%������2���%�92���	�����	���%�&�

[1] #C������������

[2] �����

[3] ���'��	�

[4] -�9:!�

  
�� �� Who founded Ajivika Sect ? 

[1] Makkhali Gosala 

[2] Kapila 

[3] Panini 

[4] Agastya 

��!�� #���#
������#C������ #
%	�� �����(���
���&�

[1] 600���B�

[2] 611 ��B�

[3] 622���B�

[4] 636 ��B�

  
��!�� In which year did Muhammad Sahab 

go from Mecca to Medina ? 

[1] 600 CE 

[2] 611 CE 

[3] 622 CE 

[4] 636 CE 

����� ��+!	�����#��?!���� ����� #��� �	�*���2�	����
����������%�+����

A. ��+!	��� ��#��?!� ��� ��92������
������I ���#���
�����
�����2�� �
 

B. I('�
����!���������
�����
�����2�� �
 

C.� ��J��Q��#��
�������	���('��������#�����
�$  

�����C�� #��� ��� ��$	-��/��$	-��� �2�	� ��%��%��%��%�
�$/�$��&�

[1] �����A  

[2] B�-�$��C 

[3] A�-�$��B  

[4] A, B -�$��C 

  
����� Consider the following statements 

about Vijayanagar empire : 

A. The founder of Vijayanagar 

empire Harihara I belonged 

Sangama dynasty. 

B. Krishnadevaraya belonged to 

Tuluva dynasty. 

C. Virupaksha temple is dedicated 

to Lord Vishnu. 

Which is/are the correct statement/ 

statements from the above ? 

[1] Only A  

[2] B and C 

[3] A and B  

[4] A, B and C 



����� �������

��	�
��
���� � �

����� ������
�����
��������	��N
����HO��%�����5��
5���'���%�&�

[1] 
��� [2] ��(��'��

[3] 
����� [4] ������	�

  
����� Rulers of which dynasty adopted the 

title 'Devaputra' ? 

[1] Shaka [2] Kushana 

[3] Shunga [4] Satavahana�

����� ���#� ��� �#��.� #����� -�6����!�� 	�� ��	��

�%(��������+����9����%���	���%�2�%�����
-�+�������	�#����+�	��+�����$�&�

[1] ��@�0���.�� �

[2] ��T��C
����

[3] ����.L�
�	� �

[4] #��0.�
�*��

  
����� Marcus Aurelius, the Roman 

emperor wrote a book without a title 

which is now named : 

[1] Sacred heart  

[2] Reflections 

[3] Concentration  

[4] Meditations�

����� �	�	��2�	��������������%�+����

A. -����#� – �����-�$�� ���������#���


�������� F���� 5���#��� ���'����� ��� ����

���Z'���������
%�+�	�����%���,�# �

�

B. 
��#	-�-����� �� 1832 #��� ��2������� ���

�����%#��������,�# �

�	�	�#��������$	-�����������%���%���%���%���$�&� �

�

[1] ������2�	�A���%��$ �

[2] ������2�	�B���%��$ �

[3] 
��	�����2�	�A�-�$��B���%��$� �

�

[4] 
��	�����2�	�A�-�$��B ��%�	�%���$� �

  ����� Consider the following statements : 

A. Agraharam – Grant of Land by 

ruler for religious purposes, 

particularly to Brahmins during 

Chola and Pallava Period. 

B. Damin-i-Koh – Land demarcated 

in 1832 for Santhals. 

Which of the following option is 

correct ? 

[1] Only statement A is correct. 

[2] Only statement B is correct. 

[3] Both statements A and B are 

correct. 

[4] Both statements A and B are not 

correct. 



 ������� ������

��	�
��
���� � ���������

����� #5!���%	� ��
�� #��� 92������ ������	��

��
���[��!����4��92����$�&�

[1] M���� �

[2] 9��	�

[3] ���.�	� �

[4] �.�%�

  
����� Bologna University, established in 

Medieval world is located in : 

[1] France  

[2] Spain 

[3] Britain  

[4] Italy�

����� ����.
����9.����0!�����	%�	��1802 #�������	�

(����) �%� ���5�� ��� ������ ��2�� �9��Q���

��!��&�

[1] !
��*�������������

[2] 
�$�����������5�!��

[3] 	�	��801	�%��

[4] ��+%������F�%! 

  ����� In 1802, British East India Company 

signed the treaty of Bassein with : 

 

[1] Yashwant Rao Holkar 

[2] Daulat Rao Sindhia 

[3] Nana Phadnavis 

[4] Baji Rao II 

����� �	�	�������#�����$	-�����#�����	�%�	�%�	�%�	�%���$�&�

� �

������������#��+	�
�����������+5��	%#��+	�
�����������+5��	%#��+	�
�����������+5��	%#��+	�
�����������+5��	%�������

[1] ������� – ��$
����%�

[2] �,���	�� –  #2�����

[3] ��?+�� – �$
���%�

[4] ��*5����� – �Q��
����

  
����� Which of the following is wrongly 

matched ? 

     Mahajanpada        Capital 

[1] Kosala   –  Kaushambi 

[2] Surasena  –  Mathura 

[3] Vajji        –  Vaishali 

[4] Gandhara   –  Taxila 



����� �������

��	�
��
���� � �

����� �	�	�#��������$	-���������#��� ���M���%�%�

���	��
��	�%�	�%�	�%�	�%��2���&�

[1] ��4�0���%� �

[2] #����

[3] �����#� �

[4] �*
		���

  
����� Which of the following was not a 

colony of the French in India ? 

[1] Pondicherry  

[2] Mahe 

[3] Kollam  

[4] Chandannagar 

�� �� ���.� ���.�	��%����
�����<	� �����(���#���

��-��2���&�

[1] 1697  

[2] 1707�

[3] 1717  

[4] 1729�

  �� �� In which year was the Parliament of 

Great Britain formed ? 

[1] 1697  

[2] 1707�

[3] 1717  

[4] 1729�

��!�� ��.����H� #��� -�!���+�� �G�%!� ��$R� ���%���

�%�-5!Q�������	���%�2�%�&�

 

[1] ����#%�

[2] #��"�������-��9��

[3] #���9���

[4] ����#H�

  
��!�� Who presided over the Third 

Buddhist Council held at  

Pataliputra ? 

[1] Sabakami 

[2] Moggaliputta-Tissa 

[3] Mahakassapa 

[4] Vasumitra 



 ������� ������

��	�
��
���� � ���������

����� 
���
���� �,�%� ��� ����� #��� �	�	� �2�	���� ���
�������%�+����
A. 
���
���� �,�%� ��� ��9����� 	�#�8�%
�

���	�2��   

B. ��	��J�!���%�#�
����������������!� �
 

C.� ��	��#�����	�#�����	�������C���+��%�
��� �

�����C��#��������$	-����2�	���%��%��%��%���$��&��
�

[1] A�����B [2] B�����C 

[3] A�����C [4] A, B ����C�

  ����� Consider the following statements 

about Sher Shah Suri : 

A. Real name of Sher Shah Suri 

was Farid Khan. 

B. He introduced the currency of 

Rupee. 

C. He issued gold coins called 

Mohur. 

Which are the correct statements 

from the above ? 

[1] A and B [2] B and C 

[3] A and C [4] A, B and C 

����� �
��%� ��� ���� �����	� 	�� 8���%� ��2���
��+
�� -�$�� �$����� ���� -�	�� 
����� #���
����������!��&�

[1] -���>%	�����+%�

[2] ������#
��

[3] ���	�

[4] �8���+1�������

  
����� Which Sultan of Delhi introduced 

Persian traditions of Sijda and 

Paibos in his Court ? 

[1] Alauddin Khilji 

[2] Iltutmish 

[3] Balban 

[4] Firoz Tughlaq 

����� �	�	�#��������$	-�����%�!�"#�	�%�	�%�	�%�	�%����$�&�
�

���� 92���:!�5�����������
�������
�92���:!�5�����������
�������
�92���:!�5�����������
�������
�92���:!�5�����������
�������
��

[1] ��+�������� – ��
���

[2] ���'�����#��
��� –� �����

[3] ���������8��4� – ��(.L�,.�
�����

�

[4] #����%���#� – �����

  
����� Which of the following is not 

correctly matched ? 

 Built Heritage   Rular Dynasty 

[1] Khajuraho      – Chandelas 

[2] Konark Temple – Cholas 

[3] Ellora Caves     – Rashtrakuta  

    Rulers 

[4] Mahabalipuram – Pallavas 



����� �������

��	�
��
���� � �

����� N�	����+1�-�68�8���%O������������$	��$�&�

 

[1] ���9#�� �

[2] 
�����

[3] ��.L���� �

[4] 2��6#��#����

  
����� Who is the author of  'In praise of 

folly' ? 

[1] Erasmus  

[2] Dante 

[3] Petrarch  

[4] Thomas More�

����� 1793 #���+��������#���92��!%��*
���9�����,�

��!���!��������4������	��-+	�����$	�

2���&�

[1] ��6�.��C�����

[2] ��������6	�������

[3] ����	����9.�"��

[4] +�6	�
�����

  ����� Who was the Governor-General of 

Bengal in 1793 when the Permanent 

Settlement was introduced ?�

[1] Robert Clive 

[2] Charles Cornwallis 

[3] Warren Hastings 

[4] John Shore 

����� -#������ �%� @����� ��� �������� #��� ������ ���

�$�T��.�N��6#	�����O������������$	�2���&�

 

[1] 2��6#����	�

[2] 2��6#��+�8��	�

[3] �$�.L����	�%�

[4] +�6	��0���

  ����� Who was the author of 'Common 

Sense', a pamphlet written at the 

beginning of American revolution ? 

[1] Thomas Paine 

[2] Thomas Jefferson 

[3] Patrick Henry 

[4] John Adams 



 ������� ������

��	�
��
���� � ���������

����� ����	��������	%���#��?!��%�92���	�����	��

�%�&�

[1] ����#�I  

[2] 
������I 

[3] -
�
�%��I  

[4] !? 11 11
��
��I 

  
����� Sassanid empire in Iran was founded 

by : 

[1] Bahram I  

[2] Shapur I 

[3] Ardashir I  

[4] Yazdegerd I�

����� +,��!���%+1��	�����.�	���������-�@#'��

�����!��&�

[1] 35 ��#�*!�!�����������

[2] 44 ��#�*!�!�����������

[3] 55 ��#�*!�!�����������

[4] 65���#�*!�!���������� 

  
����� When did Julius Caesar first invade 

Britain ? 

[1] 35 Before Common Era 

[2] 44 Before Common Era 

[3] 55 Before Common Era 

[4] 65 Before Common Era 

�� �� -�����P���#�����-������������C��2���&�

�

[1] ��Z�� �

[2] �
���

[3] ��('��� �

[4] ���%�

  
�� �� Alvars, Tamil Poet-saints were 

devotees of : 

[1] Brahma  

[2] Shiv 

[3] Vishnu  

[4] Kali�



����� �������

��	�
��
���� � �

��!�� ����,�+1����������-	�������$	�����#���
��

���
��������#��������-�5���#��	�2���&�

�  

[1] ������>%	������

[2] ������#
��

[3] ��+1!�������	�

[4] ���	�

  ��!�� According to Sir Wolseley Haig who 

was the greatest of all the slave  

kings ? 

[1] Qutubuddin Aibak 

[2] Iltutmish 

[3] Razia Sultan 

[4] Balban�

����� .%�,� �����	� �%� ��+5��	%P� +��4� ���2���

-��"�-#$�,��!�R����
�$��	����%�#G:!���������

�  

[1] �0��%� �

[2] �$�������

[3] #$�,�� �

[4] D%����\	�

  
����� Capital of Tipu Sultan, where he 

died fighting the Fourth Anglo-

Mysore war was : 

[1] Udupi  

[2] Bangalore 

[3] Mysore  

[4] Srirangapatna�

����� #G]/��.�#;��%���	�����	���%�&�

[1] ����
��� �

[2] ��
����
���

[3] 
�,
��� �

[4] �
�����

  
����� Who wrote Mrichchakatikam ? 

[1] Kalidasa  

[2] Vishakhadatta 

[3] Shudrak  

[4] Divakar 
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